CHM 130 Predicting Products Worksheet
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Circle the appropriate reaction type for each, complete the reaction with products (remember to check
charges for ionic compounds), include states, and finally balance each reaction.
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CB = combustion, AB = acid base neutralization, SR = single replacement,
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DR = double replacement, NR = no reaction

___AgNOgs(ag) + ___Al(s) »

__Ba(OH)z(aq) + ____HNOs(aq) -

___Au(s) +_ FeCly(aq) =

_C5H12(|) + _Oz(g) >

__NazPOy(aq) + ___ AgNOs(aq) 2

___Zn(s)+__ HCl(aq) »

__ AgCyH302(aq) + __MgClz(aq) 2>

__Mg(s) + __ NaySOq4(aq) 2

___HCl(ag) + _Cd(s) =

___Al(s) + ___ KOH(aq) >

___CuCly(ag) + ___2Zn(s) »

___NaOH(aq) + __ H3POq(aq) =

___HBr(ag) +__Al(s) >

___Pb(NOs)2(aq) + ___Al(s) =

_ CiHi(l) + ___0s(9) 2

__Mg(s) + _AgNOs(aq) >

___H,SOs3(aq) + _ KOH(aq) =2
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CB AB SR DR NR __ HC;Hs;0,(aq) + __ Mg(aq) >
CB AB SR DR NR __ Cd(NOs),(aq) + __ LisPO4(aq) >
CB AB SR DR NR __AIl(s)+__ Ag,SO4(aq) >
CB AB SR DR NR __ H,SO4(aq) + ___ Au(s) >
CB AB SR DR NR __ H,S(ag) + __ Ba(OH),(aq) >
CB AB SR DR NR __ C4Hg(l) + __ Oy(g) >
CB AB SR DR NR __ HCl(ag) + __ Ag(s) >
CB AB SR DR NR __ Ca(OH)y(aq) + _ HC,H30,(aq) >
CB AB SR DR NR __ Ba(OH),(aq) + ___ AlBrs(aq) =
CB AB SR DR NR __ Sr(OH)x(aq) + __ HsPOu(aq) >
CB AB SR DR NR __ NaCl(aq) + _ K,COg3(aq) 2
Answers
CB AB SR DR NR _3 AgNOz(ag) + __ Al(s) > __ AI(NO3)s(aq) + 3 Ag(s)
CB AB SR DR NR __ Ba(OH)y(agq) + 2 HNOs(aq) >__ 2 H,O(l) + Ba(NOs).(aq)
CB AB SR DR NR  Au(s)+__ FeCly(aq) >___ _NR, Auis happy alone_
BB AB SR DR NR __ CsHp(l)+ 8 0s(g) > 5CO4(g) + 6 HO(g)_____
CB AB SR DR NR __ NasPOsaq) + _3 AgNOsz(ag) >___ 3 NaNOsz(aq) + AgsPO4(s)
CB AB SR DR NR __ Zn(s)+__2 HCl(ag) >___ ZnCly(aq) + Hx(g)
CB AB SR PR NR _ 2 _AgC;H30,(aq) + __ MgCly(aq) >__Mg(C,H30,)(aq) + 2 AgCI(s)
CB AB SR DR NR _ Mg(s) + _ Na,SO4(aq) >___ NR, Nais more activethanMg
CB AB BB DR NR _ 2 HCl(ag) + ___Cd(s) > __ CdCly(aq) + Ha(g)
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NR  Al(s)+__ KOH(aq) >__ NR, K is more active than Al__

NR _ CuCly(ag) + ___ Zn(s) »>____ Cu(s) + ZnCly(aq)

NR _ 3_NaOH(aq) + __ HsPOs(agq) >__ 3HO(I) + NasPOs(aq) __

NR _ 6 HBr(ag) +__2 Al(s) >__2 AlBrs(aq) + 3H2(Q)

NR _ 3 Pb(NO3).(aq) + 2 Al(s) >___ 2 AI(NO3)s(aq) + 3Pb(s)

NR _ CyHie(l) + 11 Oy(g) >__ 7 CO2(g) + 8H0(9)

NR __ Mg(s) + __2_AgNOsz(aq) >__ 2 Ag(s) + Mg(NOs)2(aq)___

NR __ H,SOs(aq) + 2 KOH(aq) >__ 2 H,O(l) + K;SOs(aq)

NR _ 2 HCyH302(aq) + __ Mg(aq) »>__ Mg(CoH30,)2(aq) + Ha(g)___

NR _ 3 Cd(NOgs)x(aq) + 2 LisPO4(aq) > _ 6 LINOsz(ag) + Cd3(PO4)a(s)
NR _ 2 Al(s)+__3 Ag:SO4(aq) >__ 6 _Ag(s) + Alx(SO4)s(aq)

NR  H,SO4aq) + _ Au(s) > NR, His more active than Au___

NR _ H;S(aq) + _ Ba(OH),(aq) >__ 2 H,O(l) + BaS(aq)_____

NR _ CsHg(I)+_6__05(g) >__ _4COxQ) + 4H0(0)

NR  HCIl(ag) + __ _Ag(s) >___ NRHismoreactivethanAg__

NR __ Ca(OH)z(aq) + __2 HC;H30,(aq) »_2 H,O(l) + Ca(C,H302)2(aq)
NR _ 3 Ba(OH)»(ag) + 2 AlIBrs(ag) >_ 3 BaBra(aq) + 2 AI(OH)s(s)
NR _ 3 Sr(OH)(aq) + 2 H3PO4(aq) >__ 6 H,O(l) + Sr3(PO4)2(s)

NR  NaCl(aq) + __ K,COs(aq) > __NR, products are both (ag) meaning all ions so

nothing happened in this reaction, that would have been double replacement if a solid had formed



